ITI Wireman 2nd Year Module 1 Commercial Wiring

(1). Which is the inter processor distance of LAN? | LAN Pl Wm@ﬁ:{
drg?

(A) Above 1000 Km
(B) 10 Km to 1000 Km
(C) 1Kmto 10 Km

(D) 0to1Km

Correct Answer : D

(2). What is the operating frequency of a fire alarm system? | th[gxX 3TH Rer

®I SHTRICT gl T 82
(A) 900 Hz
(B) 800 Hz
(C) 500 Hz
(D) 200 Hz

Correct Answer : B

(3). Which is used to sense the heat in fire alarm circuit? | TR 3TH gfdhe A
T &1 TEq (39) B & foTT SXAATS o STt &2

(A) Varistor | iR

(B) Light dependent resistor | TS R AR ufeRiye
(C) Sensistor | TR

(D) Thermistor | E’&-\.ET



Correct Answer : D

(4). What is the testing frequency of portable GFCI for checking it's working

condition? | Tlcad GFCI B! HIIRNA fRUTT B ST o foTE TP URI&r g
R E?

(A) Check before each use | U@ ST I UG SId B
(B) Monthly | H&H &

(C) Bimonthly | fgHTRI®G

(D) Weekly | ITTiedh

Correct Answer : A

(5). How the cable is to be connected with the distribution boards as per IE rule? |

3MTss O & IR & fadvur & WY Had H SST Sl 82

(A) By crimping lugs without cutting any cable strands | oot ﬁ%ﬁ@:&'ﬁ
DI 81 T Dl T T R

(B) By crimping lugs with some strands cut off | P %ES P HIeH a7y o faT
hY

(C) By directly inserting the strands into terminals | ?ﬁ‘a@gﬁfﬁ-&lﬁfﬁ 3ifdrd
IPRb

(D) By twisting the strands and inserting into terminals | @A_S'ﬁ |§|@‘I B 3R
cfHAa /ST ¥

Correct Answer : A

(6). How the capacity of an inverter is expressed? | Uch s:laéz Pl m%@rwaﬁ
o SITeTT 82

(A) Watt hour | gre °e



(B) Ampere | QTEﬂ'CR
(C) Volt ampere | EﬁFc'QTmTR
(D) Ampere hour | Wﬂ%

Correct Answer : C

(7). What is the maximum permissible voltage drop at the point of the
commencement of supply at the consumers end for high and extra high voltage as

per IE rule? | IE W%Wﬁﬁﬁﬁmﬁﬁhm%mwm@f
o oY 3MTYfd 3t Yo a1d & fog IR SHiUHar Srad dlecsl 34 &1 82

(A) 12.50%

(B) 0.08

(C) 0.05

(D) 0.03

Correct Answer : A

(8). Which is used to protect the conductors that passing through walls in

commercial wiring as per IE rules? | %m% G@W?ﬂmﬂ'@ﬁ
SIaRT Y TORA a1 HedeR] &1 YRET b (o fheenT SUTNT fhar Srdr g2

(A) Wood batten | aﬁéﬂ

(B) Rigid metal conduit | HER YId PgYc

(C) Flexible metal conduit | <TEiTc] Yid PgYc
(D) Flexible non metal conduit | NEINKIR Yid hgdc

Correct Answer : B



(9). Which is the recommended height of energy meter to be installed from floor

level in commercial wiring as per IE rule? | IE A& &aﬂwmﬁf&amﬁwﬁ
TR oad ¥ R 811 & g Uil Hiex o1 =i $Ham ar g?

(A) Not less than 1m
(B) Notless than 1.5m
(C) Notless than 2m
(D) Not less than 2.5m

Correct Answer : A

(10). Which factor depends the cost of inverter depends? | Wﬁmm
RS R IR B 82

(A) VA of inverter | EE_CYTW VA

N

(B) Voltage of inverter | Srd&wol\lc'tvl

(C) Type of inverter | $rd&W UDhR

(D) Grade of inverter | WW@I@'

Correct Answer : A

(11). What is the expansion of GFCI? | GFCI wﬁww%p
(A) Ground Floor Circuit Interrupter

(B) Ground Floor Current Interrupter

(C) Ground Fault Circuit Interrupter

(D) Ground Fault Current Interrupter

Correct Answer : C



(12). What is the name of part marked as ‘X’? | “X" %wﬁﬁr%a%ww:lm

i

(A) Energy meter | ol HeR

(B) ICcutout | ICDhC IH3C

(C) Main Switch | A9 Rag

(D) Distribution board | ﬁW@é

Correct Answer : D

(13). Which wire is used to connect inverter and battery? | EEZYT 3R e B
ST & foTe forg AR &1 SUaNT fha ST /2

(A) PVC 1.5 sq mm copper wire | PVC 1.5 sg mm did & dR
(B) Special auto wire | TR 3ficl TR
(C) PVC1.5sg mm aluminium wire | PVC 1.5 sq mm Q@mﬁ'ﬁlﬂﬂﬂ

(D) PVC 2.5 sg mm copper wire | PVC 2.5 sq mm did & dR

Correct Answer : B



(14). What is the name of electrical accessory? | ﬁ?ﬂﬂ el h SUDHRU[ bl AdTH
FTG?

(A) GFCl Receptacle | GFCI RTPHd
(B) ELCB
(C) RCCB
(D) MCB

Correct Answer : A

(15). Which is used as heat detector in automatic fire alarm system? | Wferd

BRR 3T Ried & gic fgdaer & =u o fhdgeT Suan fhar Srdr g2
(A) NTC resistors | NTC IGEIEED

(B) PTC resistors | PTC IGEIEED
(C) Light dependent resistors | ST R AR uferiys
(D) Voltage dependent resistors | Jieesl R AR ufeRiy®

Correct Answer : A

(16). What is the full form of ‘LAN’? | LAN’ &1 QU] U &1 8?



(A) Load Area Network

(B) Local Area Network

(C) Local Aviation Network
(D) Local Active Network

Correct Answer : B

(17). Which is the data transmission medium in LAN? | LAN T ST TaRur /1egH
T g?

(A) PVC cable | PVC Bdd
(B) Armoured cable | TS Had
(C) Belted cable | IS had

(D) Coaxial cable | PITFTA HIA

Correct Answer : D

(18). What is the name of the four insulated conductors group? | W%ﬁﬁ%@'
HSaex YHE P A1 H1 87

(A) Layer | TR
(B) Quad | TS
(C) Core | PR
(D) Pair | SHST

Correct Answer : B

(19). What is the maximum number of light/fan points is to be connected in one
sub circuit as per IE rule? | IE T & SR T IU URUY T UHRI/U fogai
Dt YT T fobdt gIH A1gU?



(A) 12
(B) 15
(C) 10
(D) 8

Correct Answer : C

(20). Which is the characteristics of ‘LAN’? | LAN' ﬁWﬁ"xﬁ'ﬁlﬁT%i’
(A) Consist one computer only | WWE&WW%

(B) Group of 2 or more computers in the same building | U Eﬁ HIRd Hoar
3P HICI & TG
(C) Group of computers in different building | 3TV SHRT H H IR b TG

(D) Group of computers in different area | faf¥ra aﬁff O'hu—‘LCQ CARSE

Correct Answer : B

(21). Why GFCI protection must be used for all receptacles in a bathroom? |

S | gt Ul o 1o1T Grel GREM o1 ST ol fodm ST a1igu?
(A) To reduce electricity charges | foroTett Reh hH B %]%’I'Q

(B) For proper earthing | Sfed \’rffiﬁ'[%]%‘l'q

(C) For easy connection | 3T Ha %%‘I'Q

(D) To protect from shock | ﬂﬂﬁ@ﬁﬁ%ﬁﬂ

Correct Answer : D

(22). How the neutral is provided in an inverter? | 'ifdcr{ H BRIy ﬁ%m\_yﬂ?ﬂ

87



(A) Itis common for inverter output and AC mains | dg $'OI& 3M3CYcC G?Rw

& U BHA g

(B) Separate neutral wire is provided | el g dIR Ul IERISIG %

(C) Neutral is provided for output only | g Hdd 3M3C QE’%%‘I’QWWT
ST

(D) Neutral is provided for AC mains only | WWQ?ﬁﬁW%WW
foraT ST §

Correct Answer : A

(23). Which part is marked as ‘X’ in the block diagram of ‘OFF’ line UPS? | fg

HIT 1 /3ATH’ AT UPS P sl 3IRT H 'x’ & U H foifed fpar mar g»

INPUT T
HORMAL POWER SUPPLY
RECTIFEER BTATIC
SWITCH -1
1 ..........
CONTROAL r-% 1
- FREQUENCY -

| | wwvorrerDe-ac flz,.._l :
| — S 1r
\x BATTERY LOAD

(A) Reset switch | e Rag

(B) Change over switch | EEEICRESE]
(C) Control panel | @ﬁa:l?f

(D) Battery charger | aﬁaﬁf'\’

Correct Answer : D

(24). Why metal conduit wiring is used for fire alarm system? | thTUX 3T

Ren & fore Hed dreyge I &1 I i fosa ST 82



(A) For easy maintenance | WW%%‘I’Q
(B) To increase mechanical strength | W%W%ﬁﬂ
(C) To protect the circuit from fire | gfche di W@ﬁﬁ%ﬁﬂ

(D) For proper earth continuity | Srd q%a°r BEGEG] %]%’I'Q

Correct Answer : C

(25). What adjustment is to be done in commercial installation for

interconnection of two or more UPS? | EPTEIT 3eH UPS%W%W
gIioTfSes RITYHT H &1 JHTASH fodT STl 872

(A) By connecting manually | EIr%l,\’rl?f Y Y HIdc DD

(B) By using a change over relay | IS 3faR el BT STTNT Hb
(C) By using rotary switch | et Raa &1 SUANT didh

(D) By using ICDP switch | ICDP 9 &1 T T Db

Correct Answer : B

(26). How many colour coded wires the RJ-45 cable contains? | fhd deR Pifsd
dR RI-45 Had H MHT?

(A) 4
(B) 6
(C) 8
(D) 10

Correct Answer : C

(27). Which colour is painted on fire alarm call points? | TPTAUX &Wﬁﬁaw
R B 1 3T Ue fohar oI g2



(A) Green | &XI
(B) Yellow | Utell
(C) Blue | el
(D) Red | <l

Correct Answer : D

(28). What is the Interprocessor distance of LAN? | LAN Pl ‘{LCQH\I@IHQ ?R)[ ] %?
(A) 0to 1km

(B) 10km to 100km

(C) 10 km to 1000km

(D) above 1000km

Correct Answer : A

(29). Why battery and inverter should be connected closed to each other? | éail

3R AR B T AR Y G Db I SiieT AMgu?
(A) To reduce current loss | Wﬂﬁﬁﬂﬁ%ﬁﬂ
(B) To increase battery life | ﬁWW%ﬁ‘I’Q

(C) To maintain constant output voltage | R 3M13cYcC aiee ol SEIY G B

ferg

(D) Toincrease the life of inverter | 5*(1&@@”5‘40 ®I<§I:| %%I'Q

Correct Answer : A

(30). Which component is connected across the transformer winding of an UPS

for protection from lightning? | TTSE T  FR& & fTT UPs & TRIBIHR AEf3
A DI 1 U ST BT 82




(A) Diode | SHS

(B) Transistor | ET%IRT

(C) Triode | TS

(D) Polyester capacitor | T ey HURTeR

Correct Answer : D

(31). Which is to be considered before the selection of conductor, protective
devices and switch gear in commercial wiring? | Wﬁﬁﬁﬂ%ﬁm
RETAD IUHN 3R g IR & 70 I ugd frd R faeR fran s g2

(A) Diversity factor | Wﬁﬁw

(B) Type of wiring | IR BT UHR

(C) Place of wiring | IR BT ™

(D) Climatic conditions | TRl ) gRIRUfAT

Correct Answer : A

(32). Which is the cause for the fault if the output voltage of UPS is higher than
normal? | Tf¢ UPS BT 3TICYC dliecsl AT T fUH § ol BRIS! BT HRUT 4T

82

(A) Input voltage is very high | 3TYC dlecs §gd 3M1UH §
(B) Relay points are jammed | ﬁﬁuﬁ?ams‘rmz%

(C) Defective feedback circuit | WWW

(D) Battery get short circuited | éﬁﬁmﬁﬁa‘rw

Correct Answer : C




(33). Which of the following device uses solar square wave inverter? | ﬁ'ﬁ'f%f@ﬁ

o DI A1 IUBRU HIeR WK 9 39X BT STINT BT 52

(A) Induction Motor | seammﬂa

(B) LEDTV

(C) Small heating load | BleTdld HIR

(D) Sensitive electronic equipment | M@WW

Correct Answer : C

-~

(34). Which supply voltage the fire alarm circuit works? | GI’?I"I q {-IL('H‘Qf dleesl IR
3T 3dATH Gfhe HTH BT 82

(A) 240V AC

(B) 220V DC
(C) 110V DC
(D) 24V DC

Correct Answer : D



(35). What is the name of circuit? | WWWW%?

SWAY NOICATOR WAETER

SR
= - -
BELL 1 J BELLZ [ BELLA l
Ry Ry Ry
=T
—1-| |—-~_ .
i E
+ 2 E
24V, INPUT E

(A) Buzzer circuit | §oR Tfdhe

o~

(B) Calling bell circuit | HITCIT 9 Tlhe

(C) Bellindicator circuit | ad Ao {-IEICOC

(D) Automatic fire alarm system | TTfeTd TR S{QTH JoTTe!

Correct Answer : D

(36). What happen if the inverter is over loaded? | qﬁm Waﬁgs‘rm
dl T gRTI?

(A) OLR trips inverter | OLR E’qﬁﬁ
(B) Inverter will get damaged | WW@ ST
(C) No effect works normally | ﬁé%ﬁummﬂm Y BHH EREZG]

(D) Output voltage becomes low | 3T3CYcC diecol HH Epf\ﬂldl %

Correct Answer : A



(37). Which is key element for safety and protection of assets in CCTV system

during operation? | W%@WCCTVWﬁW&TﬁﬂT&H 3R WU &
T U d@ S AT |2

(A) Power supplies | Mﬁm
(B) Ground Loop Isolator | AT3S qqeﬂéﬂ'lélai
(C) Surge protector | Tof Uicae

(D) Twister pair balun | H@Eg\_rhﬁw

Correct Answer : B

(38). Which type of wiring system is used for fire alarm system? | (PIUR 3T

Ren & fo ford TR &1 G Tt 1 ST faa S 62
(A) Metallic conduit | &Tfcde ATelt

(B) PVC conduit | PVC ATGH

(C) PVC casing & Capping | PVC BRI 3R HTtT

(D) Batten wiring | S ARINAT

Correct Answer : A

(39). Why vaseline or grease is applied on the terminals of battery on installation?

| St T qH 3 cri-Tall OR aeTeii= a1 Ul il @i STl 62
(A) To reduce terminal corrosion | EH-Ta &RUT &I HH 3 & ferQ
(B) To avoid sparking | ST & & o ferg

(C) To avoid loose connections | @l H=aRM J <+ o felY

(D) For easy disconnection | 3TETH fadRT & fo@




Correct Answer : A

(40). Which instrument is used to measure the insulation resistance? | AT

SUHRUT YR UTeRIY &1 AU o frg TranT foan et g2
(A) Shunt type ohmmeter | R/ T18Y 31 HieX

(B) Series type ohmmeter | TRIS €15 31H HIeX

(C) Megger | ATR

(D) Multimeter | HeeTHICR

Correct Answer : C

(41). Which is the unit of insulation resistance? | Wmﬂﬁmﬁq
@ g?

(A) Milli ohm
(B) Ohm

(C) Kilo ohm

(D) Mega ohm

Correct Answer : D

(42). Which height the meter board and the main switchboard is to be fitted from

ground level as per IE rule? | IE A ® SR Hflex 1S 3R HY fggars &t
STH TR 3 framt $ams IR T ST 872

(A) 1.3 meter

(B) 1.5 meter
(C) 2.0 meter
(D) 2.5 meter



Correct Answer : C

(43). Which electrical / electronic device requires UPS? | ﬁ:fﬁ

goifaees/Zaael-e SUDBRUN B UPS I SHTIRTH T B! 87
(A) Air conditioner | Wﬁw

(B) Microwave oven | J-Il‘écb\lad 3Ma-

(C) Computer | X
(D) Television | calfaeH

Correct Answer : C

(44). Which is represented by the BIS symbol? | BIS Udie gRT faet ufdafafed
foraT STaT 82

3Wh

(A) Wattmeter | qreHIeY

(B) Single phase energy meter | Rt ool Folf Hiex
(C) 3 phase energy meter | 3 Tl SHoll Hiex

(D) Power factor meter | TR Thaex Hiex

Correct Answer : C

(45). What is the expansion of UPS? | UPS > AR T B?
(A) Uninterrupted Power System
(B) Uninterrupted Power Supply

(C) Uninterrupted Power Solution



(D) Uninterrupted Power Section

Correct Answer : B

(46). Why the battery is to be placed nearer to ups in ups wiring? | ?{Ltﬁw

i & g Ut Ty Sl & U a4 T oIl 82

(A) To minimise the length of cable | HEd B Q’iGII‘Qf HH P %%‘I'Q

(B) For safety reasons | JR&T BRI B! dolg A

(C) Toincrease the life of battery | éaél & Sitgd &l dc_&lzl %]%’I'Q

(D) To reduce voltage drop | alee ol \§TH HH P %]%’I'Q

Correct Answer : D

(47). What is the first step taken during preparation of estimating the material
required for any type of wiring installation? | fodt Wt YR o i & =TT
& QTY STIRTH A BT BT DR B TART b SR TGl HEH F1 8?2

(A) Take the layout | TP G A3AT3C
(B) Purchase accessories for testing | uﬁw%ﬁmwa [
(C) Prepare instruments for testing | tlﬁ&lW%ﬁ‘l’Q JUHRUT IR P

(D) Purchase cables testing | Xd N FEICNEISIE]

Correct Answer : A

(48). What is the expansion of CCTV? | CCTV P FIRAR R g2
(A) Closed Circuit Television
(B) Common Circuit Television

(C) Common Computer Television



(D) Closed Computer Television

Correct Answer : A

(49). Which rated voltage megger is used to measure the insulation resistance
value of 3phase 415V induction motor? | 3ol 415V IRUTHICI & ‘ér{ia-?l"l

UfeRIY Yo &1 AT & oTY fard Y¢S diees AR &1 SUTNT {1 SIrdT 82

(A) 250V

(B) 500V
(C) 1000V
(D) 2500V

Correct Answer : C

(50). What is the use of co-axial cable? | IR hIA -WB'CI@I"TW%?
(A) For transmitting electricity | W%W%W

(B) For power wiring | qﬁ?ﬁﬂﬁ"’[%%‘m

(C) For transmitting video signals | difSal dohdi & IR %]%‘FQ

(D) For house wiring | Wﬁﬁﬁlﬁ’ﬂ%]&ﬂﬁ

Correct Answer : C




